GPYAPHT ABCD o4 LA, £C 9] o] 524
o] ¥1 AB, CD ¢} ¥iv}= A3 ZZHE, F 2
2 & o, AB =6cm, BC =4cm, ZADC =
60° ¥ =, DAECF 9] =d9¢] do|=?

@D 10cm @12(:111 ® 1l4cm

@ 16cm ® 18cm

B

AADF, ABEC ©|4] AD = BC, DF = BE, /EBC = /ADF
o]|B2 SAS $-5°]1 oAECF & HJArAF o},

/ADF = 60°, /BAD = 120°, /FAD = 60° ©|2&, /AFD =
60° 0|2 &

AADF, ABEC &= H4tztgo|tt,
AE=AB-BE=6-4=2(cm) °|t}.

JeBe g PPAIHE AECF 9 9=
AE+EC+CF+AF =2+4+2+4=12(cm) o[t}




S F3PAIHES ABCD oA /BAC 9] o]5HA410] BC 9] 54
Ui, AF =5, AB=6, OC = 3% u], AACE 2] E¢& F5l4H

® 20 @ 21 @22 @ 23 ® 24

(AFB = /CFE, /BAF = /(FEC©]i1, BF = FCo|E&
AABF = AECF o]t}
w2tx] AACES] &= 6 +6+ 5+ 5 = 22°]|t},




k2 199 HPAPHAY ABCD |4 BE = __-10am. _
CE ©]22 AD = 10cm, AB = 7cm € o), DF -
o] do]=? 7em

® 7cm @ 9cm (@)140111 B

@ 16cm ® 18cm

~&B ~

AB=DC =7cm, BE =CE =5cm
(AEB = (FEC (%&2]Z})

(ABE = (FCE (9%}

AABE = AFCE, AB = FC = 7cm
~.DF = DC + FC = 14(cm)




4.

ABCD 9] ¥lo]&=?
A D
.v
B C

ON] @ 18 ® 24 @ 48 @96

AAOE ¢} ABEO oA =0]&= 2ol o] 3: 1 0|27 AAOQE :
ABEO =3:1

..ABEO = %AAEO =6

AAOB =6+ 18 =24
- OABCD =4 x AAOB = 24 x 4 = 96 ©|t}.




5.

oh 2193 22 FPAHY ABCD o4l AD = 15cm, aAPAB +
APCD = 30cm? ¥ o], AH 2] Zo]E?
A D
P
B H C

@ 2cm @)4cm ® 6cm @ 8cm ® 10cm

=

Y=o 3 g poj tistd %DABCD = APAB + aPCD =

APAD + APBCO|t},

APAB + APCD = 30cm? 0] 2.2 HPAH P 2] Hol=30x2 =
(60cm?) o]t}

7}22] Z40] AD = 15cm 0|22 ADxAH = 15xAH = 60(cm?)
ojtt.

.. AH = 4(cm) ©]t}.




A2 ABCD A o5 =g ol A p . p

2

O 22 @)24 ® 26

AE=FC,AE//FC sl &
OAFCE & HArH ol
CF=40°]E2 gAFCE =4 x6 = 24




A}2He ABCD 7 BaApdgo]

= 5 djzbale] wolth)

® AB=DC, AD =BC

@ /A =120°, /B =60° /C=120°
® /A =/C, AB//DC
(@)AB = DC, AD//BC

® OA =0C, OB = OD

AB//DC?l %% AB = DCo|o]of A}2He ABCD - ¥
olnt,




_--8cme _
Ar—H =
\
\
\
E Geem
/l
/
B T |

® EH//FC

@ EF = 5cm

® A3 EFGH ] E¥]9] 2ol 20cm ©]Th.
@/\}7_‘,*’63 EFGH ¢ § o] 25¢cm? o]},

©® AHZt4 EFGH & whgxolt,

A}7ke] EFGH ©] ol A7+ ABCD oll4 A2|e] 47k o)

(6><8)—4><(%><4><3) = 48 — 24 = 24(cm?)




9.

th50] WegAHY ABCD A A E, F+= 22 BC, DC 9| $3
OABCD = 80cm? ¥ W], AAEF 9] Ho|2 ggtre

A-e?
D
F
B 1l E :: C
@ 10 (cm?) @ 20 (cm?) @30 (em?)
@ 40 (cm?) ® 50 (cm?)

B

AABE = EDABCD = éll X 80 = 20 (cm2),
AAFD = ZILDABCD =20 (cm?),

AFEC = éDABCD = é x 80 =10 (cm?),

.. AAFE
= O0ABCD - (AABE + AAFD + AFEC)
=80 - (20 + 20 + 10) = 30 (Cm2)




10. t©h& 1304 Atte]E ABCD = AD//BC,A0: CO=1:2°]1
Arete]E ABCD 9] Wol7k 27cm? &€ ®l, AABO 9] Hol=?

A D
9)
B C
@ 6cm? @ 7cm? ® 8cm?
@ 9cm? ® 10cm?

B ~
OABCD = AAOD + aDOC + AOBC + aABO ©|t}.

AAOD 9 HolE a2l 5HH, 1: 2 =a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?




